
   

 

DIVERSION 900 HUGGER 

 
Fitting kit: 

 

1 x bracket  

1 x M6 x 30mm socket Allen bolt 

1 x M6 x 12mm button Allen bolt 

2 x M6 s/steel washer 

1 x nylon washer 

2 x cable tie 

 

Fitting instructions: 

 

In order to position the hugger it is necessary to remove the left side pillion foot rest hanger. 

 

Position the hugger on the swing arm and fit the cable ties, wrapping around the hugger and 

swing arm – passing through the holes in the hugger. 

 

DO NOT FULLY TIGHTEN THE CABLE TIES. 

 

Position the bracket over the brake torque arm and secure with the M6 x 30mm bolt and 

s/steel washer. 

 

Mount the hugger to the bracket using the M6 x 12mm bolt with s/steel and nylon washers. 

 

Check hugger alignment before finally tightening cable ties and fasteners. 

 

Please note: check hugger alignment and fasteners periodically. 

 

 

 

 

 

 

 

 

 

 

 

 

 


